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Time : 3 Hours | Marks * 200
Instructions : .
(i) Onemark will be awarded for CVery Correey ypswer. There are no negative marks.
DS B8 aTets uf S8 BTty 4y, IS0l GrdE Srdy, 0 -
(i1) Choose the correct or most appropriate answer from the given options to the following
questions and darken, v.th Blue/Black Byj Point Pen the corresponding digit (1), (2), )
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately provided to you. : ®
BHS aYS B8 PHH AB0ES T e3est DOGNS DEFErIHN0 IFNFA T°A B30T
©3 (1), (2), B) Bo (4) 0™ ays OMR ssrers HEENS BHS H02080DS
Songiie 5@ 00 BT S &S Faxnods i) GHEHOD OBSBH.

1. Identify the clause in the given sentence,
The hand that rocks the cradle rules the world.

(1) Noun clause. - (@ Adjective clause
(3) Prepositional clause ' (4) Adverbial clause

2. Fillinthe blank with the appropriate option.
' learning is a dangerous thing.
(1) Aless (2) Little" @ Alitle (4) The Little.

3. Choose the correct form of Indirect Speech of the sentence.
~ Hesays, “I goto gym every morning.” ' '

(1) He said that he goes to gym every morning.

@5 He says that he goes to gym every morning.
(3) Hesaid that he used to go to gym every morning,

.(4)  He says that he went to gym every morning.

4. Choose the correct form of Indirect Speech of the following sentence.
Rajesh said, “I bought a car yesterday.”- , :
(1) Rajesh said that I have bought a car yesterday.
(2) Rajesh said that he did bought a car the previous day.
.(3) Rajesh told that he had bought a car yesterday.
Rajesh said that he had bought a car the previous day:

5. Choose the appropriate phrasal verb.

e books on Shakespeare 10 shelves.
take up (2) take over
| (4) tum oyer

(3) turnup

R — 5D



" Read the following passage and answer the questions that follow (Q. No. 6 to 10) :

D

While riding his bicycle between tWo and three O’clock ye_sterday mornmgi,r1 aé(;lclégi\filg
unfrequented locality of the Pimlico Road, a young of foreign extraction named J oS 1ep dpf 43
the body of an individual stretched apparently motionless in the gutter. He ahgﬂt,e % ]
machine and discovered that the victim of the occurrence had been assaulted by some cr 1m1nahs,
who, after relieving him of his watch and all available cash, had made'off u-ndetected.' The
unfortunate victim, who appears to be well-connected, has not yet beer} identified. He lies at
present at the Three Stars Hotel in a critical condition, whither his compassionate rescuer escorted

him in a cab. Hopes are entertained of his ultimate recovery. The police are on the alert.

6. ‘unfrequented locality’ means

(1) people often go there @ not often visited by people
(3)  frequent transport is not available (4) prohibited area

7. Josephis __, according to the author.

(1) anative of that place @ a foreigner
(3) anoldman : | (4) - the victim
8. Where did the bicycle rider find the victim?
at Three Stars Hotel ‘ (2) ‘in the field
(3) inhospital ' , (4) inthe drain

- 9. What is the meaning of the expression ‘well-connected’?
having good social contacts -

_ . (2) having connected to the assailants
(3) well connected to the locality

»(4) connected with the crime

10. The ‘machine’ mentioned in the passage is
(1) the weapon used by the attacker(s)
(2), thevictim’s personal weapon
.@ the bicycle
(4) the police gun

11. Choose the word which is similar in meaning to the underlined word j
The poor family has no visible means of subsistence. |

(1) employment ‘ (2)

-®) livelihood

12.. Choose the word that is nearegt in meaning to the underline
His Cartoons lampooned the leaders of his time.

(1 Pr.ai.sed (2) Exposed‘
Ridiculed - (4) Elevated

R

respect
(4) encouragement

d word in the sentence.

n this sentence.
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Choosce the antonym of the undey;,

13. :
cd o
Kiran’s attendance at school wag 3!’()1"1(\1)\'/(‘)1 din the sentence.
@ Regular . (2) Oc G
"“"“'“‘"'“"‘"1’;\"'“‘ """"*l‘"“}:‘“‘“‘*"‘“"*:mu] (3)  Sharp (4) Co-ordinated
- SC e wor : as \ N \\____r’___\__—_/
14, Choose the word that has the OPPosite meapiyg f the underlined word in the sentence
When she saw the stranger, her cycg dilateq g0 S !
@ contracted (2) Widcncdgﬁ\( Vg)h fCﬂl'-d i @ ;
: reddened . quietene
I5. Choosc the correctly spelt word. - .

1) Playrig i ‘ ‘
(1) Playright (2) Mispell @ Skilful (4) Untill
. T T——
16. Choose the correctly spelt word. :
(1) pcrc“(‘:vcran?c (2) perseverence
pELEEveiance (4) perseveranse
17. Choo‘sc ﬁ}c appropriate set of prepositions and fill in the blanks in the following sentence.
The Sun is the clouds, Vani drew that picture a Crayon.
(1) on,of - @ above, with ~ (3) with, for (4) against, across
18.  Choose the correct sct of prepositions and fill in the blanks in the following sentence.
Stirred pride and envy Satan rebelled God. :
(1) off, on (2) in, with i: :y with, with w by, against
19. Choose the sentence which is gralmnaticallyvc rrect. '
(1), The cvent be telecasted next week. @ The event will be telecast next week.
The event is telecasted next week. The event will telecasts next week.
20. Choose the grammatically correct sentence.

(1) Ofthe two major political parties in Britain, the Conservatives and Labour, the later
represents the interests of the working class. -
Of the two major political parties in Britain, the Conservatives and the Labour, the
latter represents the interests of the working class.

(3) Ofthe two major political parties in Britain, the Conservatives and Labour, the letter °
represents the interests of the working CI?SS- ‘

(4) Ofthe two major political parties in Britain the Conservatives and Labour, the latest

represents the interests of the working class.

, 21,

Choose the meaning of the'underlined phrase/idi(;ll?l- :

He is a sensible person and knows how t0 m'l‘tlo’n’_ls‘hfn" .

(1) smack one’s lips & styhgh t appearance
(3) press the lips to look smart X “oman silent

22

Choosc the meaning of the underlined phrasc/ldlom.

Envy is just like a Green-eyed monster which can ‘}CS”OY ceverything.
(1) Anger (2)  Hatred calousy (4) Flattery

(AT s
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23.  Choose the option which can be substituted for the given words/sentence.
A tall strong mascyline kind woman.
amazon , (2) virago +(3) circe (4) coquette

| 24. Choose the correct one word substitute.
The school or college in which one has been educated.

(1) Learner @ pray T Amamster  +(4) Gradug®
i Cht(-jose the one which best expresses the given sentence in Passive Voice from the given
options. ’

One should keep one’s promise. '
(1)  One’s promise should bekeptbyus. “(2) One’s promise has to be kept.
A promise should be kept. (4) A promise should be keeping.

26. Choose the correct Passive form for the given sentence.
No one told - me about the accident.
I was not told about the accident. - (2) Iamnottold about the accident.

(3) Thave not been told about the accident. (4) - I was not telled about the accident.

27. Rearrange the given phrases into a meaningful sentence.
reading books is a habit / but also enlarges the mind / because it not only increases

(1) @2y (3)
knowledge /- which mustbe cultivated by everybody »
“4) )
The correct order is ,
(1) 1,234 . @ 1,4,3,2
3 41,3, 2 .4 1,2,4,3

28. Choose the correct order of the following jumbled sentence from the options.
expresses a command / an imperative sentence / a sentence that / or an entreaty /

(D v (2) (3) @)
is called
(5)
The correct order is
(1) 3,54, 1,2 @ 31,4, 5 2
(3) 5, 3’ 2, I, 4 § L (4) 4> l’ 3, 2, 5
29.  Choose the correct form of the verb from the options and fill in the blank
Ifwe_____enoughmoney, we coyld buy a villain a posh locality. .
(1) havebeen (2) has -
@ i | . (4) were

Illllllll!lllllINHlIll|l|||||IIIHIl|IA
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30. Choose the option with correct punémation

(4) The squirrels nut’s were hidden ip Several hollow trees throughout the forest.

31. Apoint Bis 25v/2m away along Ndnh-

East direction from A. Another point C is 50 m
distan.t along West direction from B. The end point D. is 502 m away along South-East
direction from C. Then the distance (in meters) between points B and D is ' "

f ©3 Doy A L0 STIg BIS® 257 5.0 Srdos® God. Hob oY C, HAEHE
8F Jowd B %08 50 M. Er50S® os. C 508 wodg Do D whckh &FS’
5002 2. $rSos® @os. I3 B Hoasn D podPo $6y drso (Dotde?)

1) sov2 @ 50 3) 25 4) 252

32. Aclockissoplaced thatat 6 pm, its hour hand points towards South-East. Then at 9 pm, the
~2 hour hand points towards :

(1) South (2) North-West  (3) South-West =~ (4) North
FoSo@o 6 HobeX wl KArTd), TIS fobrosney &MOHINPOMT 0TI
WONT ! WY, 0@ 9 Kobowk Kobe Srdod &%

(1) &80 (2) arcSwdgo 7 S8 - (4) &dgdo

33. Two friends A and B are standing opposite to each other at about 8 O’clock in the morning.
If the shadow of A is exactly to his left side, then the direction faced by B is
(1) South (2) West (3) East (4) North ,
&S00 8 Koboe [Frodoes® A, B ol 98 Do a8dl HEE% d8isddm doard

ag?m. A &g, 6 piSor @sd b BV w08, B8 ehsngomos &F

¢38e00 (2) DEHY (3) Sy - (4) sgdo
34. AisB's father. C is B's sister. C’s husband is D- EiS A's brother. D's son is F. Then F is B'S
(1) Nephew (2) Cousin (3) Son-in-law  (4) Brother

B @308, do& A. B Gng, 268 C. C 3% ¥4 D. A Gy st E. D Gy,
Sosirdoc F. ©wond BE F |
BoSends 2) &=5 B) saydm (4) FSEd
35. IfA says “B is the son of my sister’s daughtel"S husband’s father-in-law”, then A is B’s
(1) Maternaluncle (2) Paternal uncle (3) Father-inJaw (4) Brother-in-law
“Bedod o 368 3k, Srdads @08 FE PO, @ww’. ©d A 33,

. Ce(2) %o s
& B
B) Sesomds (1) =5 B orsone &P

(T Zorit
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36. IfA+Bmeans A ig son of B and A * B meang Ais brother of B, then AX B+ C means
(1) Adis father of C (2) AissonofC l
(3) Bis father of C (4) B is brother of C
A+ B ®oB B gy, sosrd A8 A x B wod B G, FEHd A ©008,
WP A X B+ C wod
(1) C&og sos A @ C &g, s A
(3) Cang soa B (4 Cmny, ascd B

37.  Every student of an educational institution speaks either Telugu or Hindi or English. If
50 students can speak both Telugu and English, 35 both Telugu and Hindji, 25 both Englis}}
and Hindi, 5 can speak all the 3 languages, 15 can speak only Telugu, 25 can speak only Hindi
and 10 can speak only English, then the total number of students of that institution is
28 ErgHoRes’ HEIwgd BLd M Bor rob md Bor wofid MR Srérderdd.
50 5008 darggren BooH 508050 ROAR BodoBd, 35 Ho0d Benrh HdGN 0B
0080, 25 H008 moAR $:0050 08 BoBoA, 5 MG Harkd rRedr, 15 Soo0d
BB ST, 25 K008 ol Sr@E 58055 10 So0d RoARK S Srerd

KOAE, es POVS'Q Bwgo durgdho 60%/@
150

(1) 145 .(2) 165 (4) 160

38. The converse of the statement “If a number is even, then it is divisible by 2” is given by “Ifa
number is divisible by 2, then it is even”. Here both the statement and its converse are true.

With this information, choose the statement among the following four true statements

whose converse 1s also true.
(1) If a triangle 1s an equilateral, then it is isosceles.

(2) If anumber is divisible by 6, then it is divisible by 3.
(3) Ifthe sum ofall the digits of a number is divisible by 3, then the number is divisible by 3.
(4) If a quadrilateral is a square, then its sides are equal. iy
“e.8 Domg $BVOPg B, ©8 2 ¥ rRoHdE08”. &I BIBSo EwE) DG Ko
“2.§ Jopg 2 B grhotwdd, w8 Hodopg’. aRd BIBI50 $00ckn o9 B0
Bodr J&g0. _ ; v |
& JSrwdod’, Bod AMI Tarky gy PITTOS, VB0 Erme DKo
PSBTR) JothEod. S S
(1) a8 @zbazo D0 BehaRd, ob SDBEETO BhasThos.
(2)' 2,8 dowg 6 ] erA0DVAE, wd 3 B erA0DDEIS0E,
2§ HOPS'Q ©oBOB0Go 3 3@*&05)‘@&8, @ Jowg 3 S ST
S (h) et oByE0 BEOENE, ) grentd thHeres SdmSso, '

N . e
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If ‘@ means ‘+’, ‘#’ means ‘—*_ «

. 49 @64#75525%36 is 5 Meang <> and ‘%’ means ‘x’, then the Vglue of
¢ ? o [T TE RPN B C_d Qo £y '
@ \JOB + 5 # &0 5 $ QO¢g = 5380‘533 ‘%, @oé ‘5’ @wa’ 49@64#75$25%36
B8, ISV | |
13 @) -123° - gy 95 @ 6
40. A car covers adistance of 560 km in 8 hrs. The speed of a bike is five-sevenths of the speed

of the car. If the ratio of the speeds of the bike and a train is 5:9, then the distance (in km)

covered by the train in 5 hours is

2.8 576 560 8. .0 &rody. 8 Hotyoes* V8K, 2.8 BE 3680 & 528 3os® J&owd

2GS Sodm God. & &8 L0Bas» 2.8 Q&0 Bng), IS 5:9 @028, 5 Kotsee*® Beo
IHTOH SrdSn (8.20.06%) | '

(1) 250  450 £ (3) 350 (4) 400

41,

The distance between two stations A and B is 240 km. It takes 2 hours for the two cars L and
W to cross each other if they start respectively from A and B at the same time towards each
other. Further, it takes 8 hours for L to overtake W if they both start at the same time from
A and B in the same direction. Then the speed of the car L (in kmph) is

Bodo Ay A$8050 B o Sy 680 240 825, L5scsn Wed 306 58 S60m
A 58050 B o 5008 28 H5005H06° 200088 JBEEm HoSrsh, a8 TASES
Tents H8 Seo 2 fowes. QoS & Bok T A %8050 B o 5008 o dHchos’
BoHeds o8 BFSt Posrsh, W L ovmds 38 oo 8 foben. syd s& L

GB0E), 3o (8.20/K08%0) [t | |
(1) 45 N .@75 . ) 80

42

An employee will be late by 12 minutes O his Qfﬁce. if he rides his bike at a speed of
40 kmph and he will be on time to his office if i€ rides his bike at a speed of 50 kmph. Then
the distance (in km) of his office from his house 1S .

28 wa'H WS R %g@;ﬁ; Koo’ :’;'Qg-b’- © VK0S $aE w5 BH @lw
Bodgom Bhard 00050 w0 Dt BN Hob% 5085 o Ko 582 @8
ShHi0E BOSHS BocHos® Bherdd. B0 @80 208 K308 w8 s o drdsn
(8.20.00¢5%)

(1) 80 (@) 60 B2 @
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Directions. f01: questions from 43 to 45 : In each of the following questions from 43 to .45, a
statement 1s given fol]gwed by two conclusions numbered I and II. You have to decide vyhu:h of

th? conclusion(s) follow(s) the statement.
Give your answer ag _

(1), if only conclusiop I follows;
(2), if only conclusioy II follows>'
(3), if neither conclusjon T nor II ’fOHOWS'
(4), if both conclusions and IT follows. j?

43 %08 45 565 Ko BHe Grsse: Bod nswas 43 B0d 45585 do BHOS'
DETIS* 2,8 ©IES0, &0 Towd [ %0805 Il o3 Bok &) (conclusions) 25583008,
88 DIBVTY D w008 S e NoHes WHBFTRT DK ab;aowa

VDN [ SrEDH vy, D vsrTso (1) wd;

OB I SrEH w000, Jo d5rTso (2) vd;

WB0WH 0 I, T 06* 98 05005858, 2 sirmss (3) d;

©oden [, Il oo Bodkr obsd, H 35rmso (4) ©d 008508

43. Statement : As it stands today, some Indian s'ports are not what they were once. India
had significant victories in football and hockey earlier.
Conclusions : I)  Presently we have no good players in football and hockey in our
_ country. _ ' '
A II) Indialost many football and hockey matches in recent years.
BSSS0 S>8 8Q) arcdon G w8iyk EHim Sk BY. nos SnsoD
DEerS $oBain TS’ T EERI0 KcHRS Jucsros Fosos.

B80 5o BioS® HTrS 00 FhoS 300 oy 8.

e 1 1)
M) 2850s00s* 68880 e 8 HETS H00 H5 FBos®
©hedHo FBob. |
44. Statement: Allrectangles are parallelograms.

Conclusions :  I)  No parallelbgram is a rectangle.
1D Al parallelograms are rectangles.

©IES0 - )] 5%533 t‘ééod@ww HSr0d8 zﬁéadae)ea“a
oo 1 D) D Sirosy oo BEEEEH s,
D o d8ross SENC &‘3; BSOS S.

(A e
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Statement : A and B are CXtremiticg of

45.
a diameter of a circle. P and Q are any two
pomts on the circle sucp g, at APBQ is a quadrilateral,
Conclusions : ) ]A& _
| I |PAQ=
©SSSo A 5850 B en 2 Syso Sog), o8 TrERORD B wodgNHoHeo.
P 308080 Q exs APBQe,x SEAE 0335335&0@(? D)E0R Ko BT Bod
Qoo en.
wdhdehen 1 1) - |APB =1AQB
1) IPAQ =|QBP
46. Atowerisin the shape of a cylinder surmounted by an inverted cone of the same base area
as that of the cylinder. If the radius and height of the cylinder are 24/6 m and 14 m
respectively and the height of the cone is 5 m, then the lateral surface area (in square
meters) of the tower is
28 Jrdop A LrRTergds DI Srdzogo EOAS &l %ozp?:@(‘éa 25°BodIenm
&) ErH0S® 28 AYso &8, SxHo @ng, TgRrgin, e SHI™ 26 ., 14 .
$08a80 Fomah B, I 5 5. wond, BifHso BN, @éz,ée: (FEpge) ITogo
(5.20.e¢57)
(1) 330 .(3) 3306 - (4) 220
' 47. The part above the cone filled with ice-cream looks as a hemisphere surmounted on its top.
If the height and the radius of the cone are 13 cm and 4 cm respectively, then the volume
(in cu.cm) of the ice-cream is .
o8 @ooaeoc%c‘é 2,8 FompoH RY) oDEJ"hO@{@ 28D, 25’5807‘.’3:6 &965‘%’50@ GHO.
fogodh Bwg) &, TETF 560 13 0.0, 4 200.8. wond, e aaco@So 300,
H5HBSF0 (P08 0.0
(1) 198 @ 176 @ 35 ) 39
43, From a wooden cube of edge 14 cm, a right circular cone of maximum volume is carved

out. If the volume of the removed portion of the cube is V, thep 3 v (in cu.cm) 18
14 2050, oo KOAS 2§ Faky 380 08 K03 fwssesrosn SOAS wf vov
S5y80% fomPHo By, oSS Hob FTONODS o g wssssrmo V, wand

3V (08 oioes®) i _
(1) 2744 ~(2) 202533 (3) 868 {® ¢o76

>
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49. A solid metallic right circular CYNNAer of ragiyg 5 4 o4y ciont 8 inches is melted and

q into i i i -es who : :
recast 1nto 1der1‘F1c:al hemispher d )S€ bage jg cqual to the base of the cylinder. Then the
number of hemispheres thus formedis

5 GErdy) dorard) 80hod, &

3 wothbere argrgo, 8 0T DB Ko ok & vowd)foh T
g - -0 & (7)
sxbo GnY, rrods SErSER B0 Sang vy ars wgifTem FEFTE G
8 B0 Er>odS wlifeee VOB
2 )
(1) 2 4 (3) 6 . (4) 8

s

50.

A solid iron cube of edge 24 cm 15 Melted and recast into a rectangular sheet of thickness
2 mm. If the length (/) and breadth (b) of the sheet are in the ratio 6:5, then [+ b (in cm) 1s

242505, wotHie 2.8 K& 1D MWI5N §8A0H, 2 20.5. Soodo EOAS BF, HEOFTSED
B S Do, © T GNE, FEY () $H00%0 Beesy (b) © QY 6:5 VOIE,

odyed I+ b (Pondoeres’) , i _
(1) 484 . @ 528 (3) 561 (4) 594

51.

(3) 15% oreso

A vendor sells vegetables at 12% less than the cost price, but manipulates the weight of
800 gms as 1 kg. Then he gets

(1) 10% profit - (2) 10% loss

(3) 15% profit N }.(.4) 15% loss |

L& DTG ErSmehes: §F) ¢6 S0 12% 889,58 elumd, wond 800
rSne 2&H wl SIS0l winyerdd. @iy 8IS 5SS

10% oo (@) 10%8%0

(4) 15% S50

52.

A dealer bought an article for Rs. 400 and paid Rs. 40 towards its fransport charges. Ifhe
sold it for a profit of 20% on the cost price, then he gets

(1) aloss of Rs. 40 (2) aprofit of Rs. 40

(3) alossofRs. 80 (4) aprofit of Rs. 80

2.8 S8%ock w8 32395 400 ried §Q, o Sareae pEY §od fl_(_)’druoa BYowr . §F)
s 20% orefod’ TAY Do, 0By 95k FORD

(1) 40 &rieo Sxo : . 40 S eeeso

(3) 80 drue §50 | (4) 80 &ruien erefo

W .
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A telephone is sold for Rs. 4,000 at 4 | s
be sold in order to get a profit of 17%01585 of 10% Then the price (in Rs.) at which it must

28 BOZFS 10% $%0& 4000 Srneyy
Aonosndod. 17% erzio 2
JEo0oiwdd 8 (Erieds?) it ea FPLn

54.

1) 4,4
(1) 4,400 (2) 4,800 Q) 5200 (4) 5,600

If a certain principal amounts to Rs. 34 : :
;000 nd to Rs. 40,0
simple interest of #% per year, then r = In 3 years & 00 in 5 years at a

B05ETAE 1 TBSEE Fod wden 3 Qodgyores® 34, OOO S 5360533 5 dos&Trod’
40,000 &>n1e 320€308E, wdyd r=

(1) 8 (2) 15 @m0 @

If a principal of Rs. x, at a rate of interest 20% compounded annually for 4 years amounts
to Rs. 62,208, then x =

x G, sden &5y FOT 20% SESE Ko’ 4 HoSHEEN0 T8 oy 3ngo

- 62.62,208 @008, vdyd x =
@ 30,000 (2) 40,000 (3). 35,000 (4) 45,000

@

56.

~A man borrows Rs. 5 ,000 for 2 years at the rate of interest of 16% compounded yearly. If
at the end of the first year he paid back Rs. 500, then the amount he should pay atthe end of
the second year is

28 558 70T 16% WESG e 5, 000 5?110;& 2 cooéégéffmo 58 @y e‘é:co&azcéo
3088 BoSdTrodod” w&k 500 Srien D8 BIR, Bokh Dod&)ToB0S” WS

z?; g oiiée;‘?oé @v;’mé

(1) Rs. 6228 @ Rs. 6,148 (3) Rs.6,728  (4) Rs. 6,648 f
57. The simultaneous linear equations 2x —3y + 4 = 0 and 3x 2y —4=0have
& (1) no solution ~ (2) unique solution

3 finite number of solutions . (4) infinitely many solutions

2x 3y+ 4 0 08050 3x—2y—4= O 03 50508 AEHrE dMogSrosy

(1) ’”‘C555 €06 @ D88 S Sot0od

(3) S0 Hopg HOIDEom GO0 (4) @c‘éoéaaséés S0 &owooa ‘

BN -

53 If the simultaneous linear equations 2x = ky+5=0and 3x + 2y — 7 = 0 have a unidue

solution, then
2x—ky+5= 0 458050 3x + 2y — 7 =003 J505°9% ngé (of()oééea‘esﬂ) 38 FES

ﬁo@, uwj&J

(1) k=—-§- (2) k=-3 3) kz-3 k;ﬁ_g

I | 2
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) Booklet Code | )

A telephone is sold for Rs. 4,000 at 3 |
be sold in order to get a profit of | 7%083 of 10% Then the price (in Rs.) at which it must

2§ BOFS 10% 5508 4000 oo,
JEonosadod. 17% e
DEo0oBIRS $E (Sriees?) ) b SR Dl Ry

(1) 4,400 (2) 4,800

54.

@ 5,200 4) 5,600
00 in 3 years and to Rs. 40,000 in 5 years at a

If a certain principal amounts to Rs. 34 0
” simple interest of #% per year, then r =

D058 r% a:*ti)zéff’a §o¢ den 3 (oo:)%cya@es‘s 34, 000 [enulI[SV) 5350533 5 doéﬁe‘(‘)U‘O@s
40,000 Soene> 0808, VIV =

L) 8 (2) 15 S (3) 10 ‘ @ 12

55.

If a principal of Rs. x, at a rate of interest 20% compounded annually for 4 years amounts
to Rs. 62,208, then x =

x 8. @den @“533& O 20% zﬁ@éf’é KeoSo8® 4 HoRE80L 58 eao'fbg 0o

C 850.62,208 200208, ORYE X =

1) 30,000 (2) 40,000 (3) - 35,000 (4) 45,000

6.

A man borrows Rs. 5,000 for 2 years at the rate of interest of 16% compounded yearly. If
at the end of the first year he paid back Rs. 500, then the amount he should pay atthe end of
the second year is

2.8 $g8 O 16% S5 Bend 5,000 6J°ue>£63 2 %058)B5ne TR DT EoBoT)k.
Boods DoSSorodos® wEdy 500 Grien BoEE DO, B0k DoIHT 0SS WSk
B@Joééo?o:é 500y, ' _

(1) Rs. 6,228 @ Rs. 6,148 ~ (3) Rs. 6,728  (4) Rs. 6,648

37.

y b

The simultaneous linear equations 2x — 3y +4 =0 and 3x— 2y —4=0have g
(1) no solution ~ (2) unique solution '
(3) ﬁmte number of solut1ogls - (4) infinitely many solutions

2x 3y - 4 O:ﬁaaoﬁw 3x — 2y 4 =003 35508 DEdrd HDESrots
(1) a8 wodd (=% 7 x) @ JTE FES wotnod
(3) FESo vowg HoAEom é‘voé.:ao& 4) BIT0EZ0HE S Gotron

_/“T]

58.

If the simultaneous linear equations 2x—ky+35=0and 3x + 2y —7=0havea umcfue

solution, then
2x—ky+5= 0 ;5360533 3x +2y— 7 =003 305°0% ngé cogbgégyom 38 388

08, @ajéo

. _ i 4
(1) k:—% (2) k=-3 () k=-3 k¢"‘3’ :

(e
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59. 30 applesand 23 guavas together cost Rs. 392 [f7 guavas and 15 apples of the same kind
together cost Rs. 178, then the cost (in Rs.) of an apple is

30 826 Sody BoBosn 23 sy Hod S0do b 392 Erien. wBEED T o Hod,

P

15 89S Do Ingo w6y 178 Srien ©ond, 2§ @S Hoth pb (Eried’)
1) 20 @ 14 () 10 (4) 4

\ .

60. 19 0f 21+27—36+3x6+7- 7= -
(1) 426 | @ 356 (3) 383 (4) 330

61. The sum of alll two digit natural numbers which are divisible by 3 is
33 erhodnd Bo%o8e DGz 6033503120@3 S0go

B (1)) 1665 (2) 1776 _(3) 1110 (4) 1265
62. The sum of the 9th term aﬁd 12t term of the series l, i, i, ... 1S
| | 7’11715
11 1 FB3e® 95 B0 %0850 125 Hme Seod
1 15 & H&o dTe Bngo
10 ~ 10 | 98
1 | - - - eo——
(1) 21 2 553 221 *) 3363

63. Ifacardis drawn atrandom from a pack of 52 playing cards, then the proba’t;ility of getting
a card having a prime number is .
528 Snfe0 fo a8 DY KuB0h ST wE BE 5985 Bo853, B
Sopgdd EOAS DE S0 H FoswmdE Ko Doy :

b3 y 2 2 4
ONNF @ G = =

64. Iftwo dice are thrown simgltan;:ously, then the probability of getting distinct numbers on

them i1s

B0 FRE0L JEse065° TRo0IDyehd, TP DY) Dopged Fosaa o Sogrdgs
5 5 ek 1 1 -
= v B 2 . B

(@ 6 @ 5 ()% Ty

65. If 3 coins arc tossed simultaneousl,y, then the probability of getting atleast 2 tajls is
3 B JE5T00S” Qﬁadé?osséjcsa, EAK0 2 TOR0% Fotgrna e NI RIS

& § % | (3) 41 - %
A




@ Booklet Code D

ence 5,7, 11, 19, 31, 67,131, 259, 515, ..., the
QllCnCc is 9 3 El

> O B00e5° D B10¢5E3 &' DTS, o5 €550

00, Among the first nine terms of the ge
number which doesnot fit into the se

S7.11,19,31, 67, 131,259,515
POVER (RDOSD) Dowg

1) S15 2
(0 HS g (3)) 31 (4) 131
07. The tenth term i iy
nth term 1n the sequence —, =, 2 2 1,... 1
Z1° g g 18
4 2 3 2 '
21 . '__]‘« 71 -:‘:1 1,\ e &9(‘5&@5500@55@ édé éCSO
15 62 w04
. 12 5 62 27 104
| - ) 5 | () = @ 21

68, Among the first cight terms of the sequence 1, 2, 2, 4, 8,32, 256, 4096, ..., the term which
doesnot fit into the sequence is '

(1) 3% term (2) 5™ term (3) 8" term 4) 7" term

1,2, 2,4, 8, 32, 256, 4096, ... 05§50 3088 D0 HT oS, e wHESoS®
QOIS (RD0e8Q) HSo

(1) 35 %o Q) 55 d8c @ 85 B0 O

69. Tl),g TCélﬂl term of the sequence 7, 14, 19, 29, 40, 44, ... is
~\ ~O ;
7, 14, 19, 29, 40, 44, ... 90E500S5'Q 58S HS0
"\e_/‘ \_/

() 53 0w (2) 103 @) 93 83

70. 1fABBB-—-AAABA-—-BABAAAB ——BBA s the given letter series with six missing
letters, then the correct option which contains all the missing letters in the order from left

to right is
st 5*00S wioes ABBBNBAAABABNBABAAAB A BRBA wis & o8 o

©ond, SHoDS BETre 0B B Lok m&’a SVEK 9B Eo0s® EOAL) DTS

zozi’)‘)éo : _
@ ABBBAB (2) ABABAB (3) BABABA  (4) BAAABA

—1.

IfBDGL. DGLN, GLNQ, LN @ _is the given series, then the correct option which fills

the missing term is
BDGL, DGLN, GLNQ,

NQS (2) IJN(L,JE);\LNQT (4) GLNV
AVRETEARMOrO (5.0

0P SEES ©on8, $'%ons HEQ) OB DO
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is the given series, then the correct option which fills the ,

s

o 1£525h 21, TI3G,
missing tcrm is

725A, X21C, T13G,
pd\Eo " 215 |
(1) SsL (2) TIOM (@) Nxim (4) RIOK
Ina certain code language if the word PENCILS is coded as WKSGLNT, then 11 the same

code language, the word DRAWING is coded as
=
2§ JPR §'&erdes® PENCILS o3 HéS0d - WKSGLNT m 56 B, @Zﬁ §6@a7°oae5“‘

DRAWING &350 Swog), 56 ' ‘ <y o
(1) JWEZKOI ~ (2) KXGZPH  (3) JWEALPH KXFALP

74. Inacertain code language if the word DELICIOUS is cc?ded as DLCOSEIIU, then the word
which is coded as COOATHCLE in the same language is
DELICIOUE)sd 5070y o8 983 S&aras DLCOSEIU - §'6 3%
COOATHCL@v 56 BoHadS Hio |

+(1) CHOCOLATE (2) CHAOCOLET/@ CHOCOLAET (4) COACHOLET

75. In a certain code language if the word FRUITS is coded as 618211878, then in the same

w38 &8 [@Bed wond, STHodS DT Srood D8RS

73.

, 098 §&pras”

code language, HEALTH is coded as e 61
&8 A0R §&eras® FRUITS o3 d&o 618211878 ™ §6 ©ond, @i §&ris® HEALTH
o333§2j 56 £ 1 2\ .

85115719 (2) 85112208 (3) 19222615719 (4) 19222612208

76. The number ‘zero’ was first 1nvented by whom?

(1) Romans : (2)  Arabs
(3) Indians o .- (4 Greeks
008) @08 Jode EIDBES a7
1 ol , ‘ - (2) osanes
(3) eSSy , (4) Bgoen
77. Who is the first martyr of the 1857 Revolt?
(1) Mangal Pandey @ Bahadur Shah IT |
3) N
g ) Nana Saheb ~ (4) Jhansi Lakshmibaj
857 8&ifrerines® & V0EHIT IS8 eI ?

(2) Boas D ERE 3

G) o vars
: .l (4) Sy SIOEANY

I

16-D
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78. Inwhich Indus valley site more num

(1) Harappa ber of wells were discovered?
(3) Lothal ' (2) Kalibangan

N IR SR (4) Mohanjodaro
u? OGS ok @_adﬁné‘ 8 S W g ess 0 ESHRSES.
(1) S8 ‘

#(2) 5Ow0AS

S oSt s’

»(3) b

(2) Henry Siddons
. (4) William Archbold
Sl ;605‘)55 @5’&53}*5 Fp8 H5B)d D06 8o -5,8c%08S

(3) Theodore Beck
88 80D soRD B
§re RPTS D,

1) 83RB>rE6 5808 - (2) TR DEY
BR>ci6 BE | | (4) DdoP0 &S

80. Match the following.

a) Lingaraja Temple i) Chola
- b)  Vaikunta Perumal Temple ii) Hoyasala
c) Brihadisvara Temple ~iil))  Ganga
d) Belur Chennakeshava Temple iv) Pallava
& (8od T 2SWAH0s.
AL | er-I1
a) SoKore: ee00 1) S
b) . I%08 DHhHré oo i) SFohFro
C) eoéisvéaa’sd Yoo ~ i)  KoH

d) Berd a:sﬁ%;s 0300 V) S
The correct answer is :

QBRDS JSrTHS0 |
- (1) a-i, bdi, c-iii, d-iv | @ |
(3)  a-iv, b-iii, c-ii, d-i | (%) a-iv, b, o-if, d-iii

LT St I

a-iii, b-iv, -1, d-ii




@ &.4. 1915-1916

P-1 Booklet Code E
81. Match the following.
List] List-II )
a) Ec;rEDalhousie - 1) Local Self Government
b)  William Bentinck 11)  Pindaris
c) Lord Hastings 111) Thugs
d)  LordRippon iv) Annexation of Oudh
& 1500 B BSWohod. ; '
erder-] | - el
) o8 ESF 1) I8 BgHhdared
b) JOHo BosE i) Sombden
c)  o§ Rof) iii) e
d)  og oS V) BE ugson
The correct answer is : '
DBBS BETFGSL® |
(1) a-iv, b-ii, c-iii, d-i a-iv, b-1ii, c-ii, d-1
(3) a-i, b-iii, c-iv, d-ii (4) a-ii, b-i, c-iii, d-iv _
82. The revolutionary organization ‘India House’ estabhshed in London-was handed-over in
1907 to .
(1) Mahadev Govinda Ranade (2) - Gopal Krishna Gokhale
(3) BalaGangadhar Tilak (4) Vinayak Damodar Savarkar
©osSS? THOTRAS DD K)o“g ‘ROASST FR'EH 1907 DS68 O AT E?
(1) o585 208 oosd o h"@“oé@ﬁ Fpd
. (3) wrodorss 80§ DTDE TIPS >S5, E
83.

The Sabarmati Ashram was established by Gandhgl during the penod
(1) A.D. 1906-1907 (2) AD.19]3- 1914
(3) A.D. 1915-1916 (4) AD.1917-1918
mo&e D288 wFs0s RAISIARY S”oéao ‘

(1) &.4. 1906-1907 (2) 8.4 1913-1914

(4) &.%. 1917-1918

84, In which year Vasco dg Gama first reached to Calicut?
(1) A.D.1498 (2) AD. 149 (3) AD.1598 (4) AD.149]
D So3HBoS" & sy OEBFBMT TOEE Doy 5
) @ 84 1498 () & 1400 G) &a 1598 (4 &4 1491

AT



85.

Booklet Code

The Hunter Committee was appointeq
(1) To control extremists activity
(2) To negotiate with moderates

(3) Toreport on salt satyagraha

(4) To enquire into the Jallianwalg Bagh Massacre

008 $208 B FEH DaLMosnasa,

(1) oszde BEgos 2—96§é£c§°:{)§

. (2) E>;Hos VOB

() &Iy Jdeegiron I8 £%

29008 aererh DE0B0D Dardes,

86.

Which text among the following is considered as Buddha’s biography.
(1) Vinaya Pitaka S '

(2) ' Sutta Pitaka

87.

(3) Abhidhamma Pitaka . (4) Buddhacharita

8od FS* J Koo 8336553{0 R0 LIS BB 2 D0D2BE08?

(1) D3c%H er¥ @ Sod sk

(3) ©PEZ) HeoE . (4) =g

Who described 1857 Revolt as the First war of Indian Independence?

(1) Ganesh Savarkar (2) Vinayak Damodar Savarkar
(3) BalaGangadhar Tilak (4) Vallabhbai Patel

1857 8&iherensd DES ardd Solgy JorSor’ $80DSE ISKH?
(1) &89 56,6 DTNE TITSE FIEE

88.

(3) ero Komgs 8o (4) Sofers HBS
‘Which was the first Mookee Movie in Telugu? ' -

(1) RajaHarischandra , (2) Bhishma Pratigna
(3) Malapilla (4) RaituBidda
BeoHeS® TndS Sl Dgo 28?

(1) ooz FoHol - @ by, way

(3) Srody () 2% og

89.

In which yeaf the Muslim League passed a resolution demanding Pakistan?
(1) A.D.1937 (2) A.D.1936 () AD.1940  (4) AD.1942

D Boséydos® Snho OF FETS a5ros DAL STRonag,
(1) &% 1937  (2) &4 1936 84 1940  (4) & 1942

.llIIllIIHIllll\||II\IIlIlIlIIII!II\I!IH||I| B
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90. Which was the first Newspaper in India?

gal News (2) The Hindu
(1) Bengal News i,
(3) AmritBazar (4) Bengal Gazzettc
TEEBI0S® INEL TTHBE AB?
(1) BorS Srg (2) & Tl

(3) NS werd ForS A

. , . ion is passed
91. Inwhich of the following Congress session Non-Cooperation r esolygign 1s I8

(1) Nagpur : | (2) Calcgtta
(3) Vijayawada (4) Amritsar
Bod TBS* A 5o BIrIIS® HHcH oS SuySo Bobwdod.
@ SRIE - (2) Sose
(3) DdzcShad _ L (4) e39835
92. Who among the following was the founder of Indian National Congress?
(1) BalaGangadhar Tilak (2) William We.dderbum
(3) BruceT. McCully (4) Allan Octavian Hume
Bod &r8S° erdE 80 SPORR L2oNSIO5E?
« (1) eroordd def (2) 29 5%5@5&
(3) ErR.&. &S ' VO BTICNS Torgd
93.  Who wrote the book ‘Poverty and un-British rule in India’?
(1) Ramesh ChandraDutt = (2) Rudder Palme Dutt
(3) Dadabhai Naoroji (4) Surendranath Benerjee
‘TG wob BI-DBY S 15 Yodosr’ HoTR) SD0RIE JS9
(1) &3Q So8 && 2) 846 5 &
T°EeTr0d) J8 (4) S0 Bég ‘

94. “Give me blood, I will give you freedom” - Who said

‘ (1) Jawaharlal Nehn.l (2) Subhash Chandra Boge
(3) Mahatma Gandhj (4) Lal Bahadyy Shasti

‘T8 680 asod, 3% D% TeBoEgR) A VHY SS9

1) 285608 3 . N
(1) w5568 a5 @) Swssos ws
(3) DoTE) mob

Aoy

(1) oS wgrgns =&

20-D



95. India was transferred from Eag; Indi,

96. Which formula was proposed ,

Booklet Code D

(1) A.D.1858 (2) AD. 1857C “Mbany to British Crown in the year

206057, €8 RO&AI® Sonh g G (3) A.D.1859 (4) " AD. 1947
A%Es
() &+ 1858 () @z 155 OE3 orusps >0l Bo8% Srgimas sosésn
(3) &% 1859 (4) &% 1947

: : yM .
(1) Thirteen points Uhammad Ali Jinnah after rejection of Nehry Report?

(3) Fifteen points (2) Fourteen points
(4) Sixteen points

‘ch &5 Vs B :
ST 53:.3‘-&)0 258) 2a) Q rE Q) PETrBORK?
@ soxg e

3o JIBESS éédc“az,aoi)és
(1) 2838 Sr@en

¢ (4) 285 drEe

97. (Iijar::er Lahore conspiracy case, Shiya Ram Harj Rajguru was executed on the following
(1) 23 March 1931 119
3 I
(3) 23 February 1931 % g ﬁiﬁ;rly ¥031
TS Bl T 808 10D 58 s 6osHS Ebzo 87
23 &gy 1931 ) 23 9ponHS 1931
(3) 23 Ss86 1931 ¢ (4) 23 2538 1931
98. Which one among the following was not the founders of the revolutionary organization
Hindustan Republic Association?
(1) Chandra Shekhar Azad (2) Sachin Sanyal
(3) Ram Prasad Bismil (4) Jogesh Chandra Chatterjee
osriS 0595 erbcRAS ©F 955 508 FIHOS' Bod TS IS Bo?
(1) So&ipb ©=b © (2) A3 S¢S
(3) copFs oS : =.0. $&Y
99. The British Officer Saundars was assassinated by _ ' o
@82 ©856 Fodf) IS6T TS BSRGE- |
@ SHSO0R (2) Broges. () =838 - (4) %25 dTgS
100. Who criticized the offers of the Cripps Mission as “the post dated cheque drawn on a
(f(]){lmg})ank’=? (2) Gandhi " (3) Azad (4) RajendraPrasaci
) Nehru “p e éé_oaéal TGoKKH BdF) Swody BEYT

fE e L KA B €30,
8% AS acybs i’vgac‘s:ﬁ b
956 D58)0wEd?

i () w=s
(1) 35w @)rﬁo@ .

(4) ocBogBTs

A o+
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101. Naganika who ruled the South India as a regent during the Satavahana period was the Queey
of the following ruler?

(1) Srimukha : (2) Satakamll
(3)  SatakarniIl (4)- Gowthami Putra Satakarni )
TEIT0O 52065 S8ed 2316@53%‘@ Trag SoBET O b@oi)é —-«ﬁ;oé & \Bobarpst
D38 Teed?
o (1) @Boopack | Q) 3058 7888
(3) Bous Tssp . 7)) bR TEL
| e : divided
102. During the Satavahana period, for the Administrative purpose kingdom was divided as
following. - |
(1) Ahara (2) Nadu (3) Sima \ V&) Sthal; 3
TETTNO FOT TS HOTOI Freodigo §00 TErgR) §od don IBEOLrE.
. &5 2) & (3) b% (4) o
103. Who was the founder of the Pancharamas in Andhra? .
(1) Kubja Vishnu Vardhana , (2) Pulakeshin H-
'(3) RajarajaNarendra - (4) ChalukyaBhimal
&oEBF0S* Dowrorsre c‘OO‘“&é QS5E? '
< (1) S0 2y SgSock (2) BoUS PHesy
(3) caoe SPoghd ) 3068 Trensg DSk
104. Place the following rulers of Vijayanagara in the chronological order
1)  Achyuta DevaRaya ii) DevaRayall
111) - Venkatapati II | iv)  SaluvaNarasimha
508 Dz2oBHS rod) sordHEsoon DE)os.
) e BSoos i) Bods BSoroses
1i1) Bo&d JogbHa V) end $80%

W bibiiiv o @) iviiigi () i, v i if, iv, i, iii

105. Who was the Authof ofthe Work “Sakalaniti Sammatam??

(1) P.rolal'aja~II e (2) Madiki Singana
(3) SingaBhupala | , (4) RudramaDevi
V008 B50850” (Kos SSome D567

(1) Bods oo @ SO88 20K

« (3) Dok sordmrends (4) HE53s

IR
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106. The construction of Orugally Fortwa's initiy it
- (1) RudraDeva aled by the following Kakatj
§3) Rudrama Devi (2)  Ganapati Deva
£,5Ke § VTR ©S0DNoDY S8bg, (4) ProlaRajall
KoM,
: (! ;’ ESBH B>
’ (3) HISSBD (2) KeHd BYHH
(4) Bo&s e ore

yaruler.

107. Inthe following which Telugy

(1) Manucharitra T descripeg the daily life of Krishna Devaraya?
(3) Ra};avachakam e (2) Amukthamalyada

. . ' (4) KrishnaDevaraya Dinachare
& 1808 Q Benid @OCSOQS'G §g§% 3‘35@:050&) 8555 SBOSHBOB.
(1) Sodowsdies S 98

, . @) ssmgsregs
5 ik il inh 4) ¥pdscaH 630

108. Vaj rakarur is famous for

(1) Textiles : (2)  Gold (3) Diamonds  (4) Copper
Sessrs B8 Bhy | L

(1) S@eo (2) 20ME0o @ Sereo (4) oa

- 109. Andhra Mahila Sabha was established by | A

(1) Sarojini Naidu = " (2) Durgabai Deshmukh

(3) MuttuLakshmi Reddi (4) Duvvuri Subbamma

BoE Hreny HOB FhoswaIE

(1) 362d sasnd . @ TS BFS0E
(3) Mé_goé@) & - (4) e R0eBoy

110. Sri Mukhalingam is located on the banks of the river
(1) Vamsadhara = (2) Nagavali (3) Gosthani (4) Champavati
D 38wl § Swpdofo Eod?

Md @) ewse () &8 (4) Soss

111. Two objects A and B are 'proj ected up with vélocities 20 ms=! a4 30 ms~! respectively. The

ratio of the distances travelled by them in the last second of thejr ascending motion is

A, B o Bods Sdogess ssbm 20 ms™, 30 ms™! Iregs D8 OIS Y ©8 T

@\/
BOS80eS* QL8 DESS®T @ @053‘,9505 555"012) “1«13?»1 9 4
(1) 12:8 (2), 4:1 : 19Kk

H—— 20
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’ ;i - x g b uni d ‘v’. The
112. A particle of mass ‘n’ is moving on a circle of radjus ‘R’ with uniform Spec ™

. g s A V24 . . . g 1 tO
average force on particle in the Inte! val in which it completes a half circle 1s Cqui .
N n? ‘ “ &Y o] . 08
‘o ($550°8 Ko a8 §e0 R’ agdo o $ygop 2868 5& y & 5003 ¢

@:géaﬁéo @“_Q 305336:3§2> 5@35"@5555@66 G"K)_:.z 15;501 LovH0 20 628 -é;)/uz.,;so
‘ : —’—2 2 = MV
Y - 2my . ’
1F =—— ) o’ /
with a velocity of 10 ms

113. A man of mass 80 kg is moving in the compartment of a train Witf o1
eastward with respect to train frame. The train is moving with a velocity ©

with respect to ground. The kinetic energy of a man in the ground frame inJ (j‘:;fsll(s) o
80 kg © (§550°8 Ko af $9% Boo A Soc A o HEOTT SrE)0? L
3fod* heotoas. Buo 10 ms! $os® 58506 BIm HoSrBoWBHS E7N TEO

S0 vE K838 FSaS’ 3
@ 4 % 10° .(3) 16%10° 4) 8x10
\

(1) 0
114. How much of heat is to be removed from 50 g of water at 50°C to convert 1t mtoolce at .
=1 cal/g/°C)

0°C? (Latent heat of fusion of ice = 80 cal g~! and specific heat of water

50°C &ais 58 &%) 50 g o 8 0°C ¢ o (ice) Sr8)trd @R Kood

SoRoT S tho Jend Jod? (B0t HoRFSS Qo = 80 cal g—1 5950533 8

D3araso = 1 cal/g/°C) ‘

((li) 6500 calorie ,(2) 650 calorie (3) 6507J

115. The speed of sound i air is 340 ms~!. Ifits frequency is 170 Hz, then the distance between

compression and immediate ;arefaction (in metres) is

mOS® 50 3o 340 ms!. 170 Hz dedSg0 Ao §gQ mdS® Posrednd)dyd &3

DBS DodESo, EPESmo Kdy Erdo (bYST). |

0 ms~} westward

(4) 6500 ]

1 (2 2 (3) 3 @ 4
116. The phenomenon which is not involved in the formation of rainbow is
(1) Dispersion ' (2) Total internal reflection
(3) 'Refraction P (4) Diffraction
(6 GR29) AEYELOS® ) KyAcaoHo er0cssH? |
(1) agde0 0(2) BoIPToss Borssso
(3) Sigassso @ 25550 B

117. In the circuit shown below potential at point A is 20 V. The ial i WS
ok V. potential in volts at
Bocs wrad Sodho (circuit) &° A Howdd) 5¢ FBAHS 20 V wonss? Baapoogg)B;;
FBHS FG (volt) o , 8
| 1A 5V
Ae—— MA——— B
Rt 5Q

20 (2) 15 T L(3) 25 @ 30

T




118 Two particles start simultaneously from

Booklet Code | [)

origin and moves along tve X-axis. One particle

moves with uniform acceleration st
arting
constant velocity. The distance betweey t}%c?r?m the rest and sccond particle moves with

(1) Continuously increases

(2) Does not change

(3) First increases, decreases to zero and then increases

(4) Firstincreases, reaches a maximum value and then remains constant

Bodd Seoren Sare Do) Sod +ve X- ©80 o w80 @O&TE?)OIS&O 223¢5en iron.
2,883 &)ra:)ocoé’é 0od Jaden I QAEBa ésdeaoefﬁ @ojyeﬁmeéi& BoKHs 036;_5){‘,0@
@O?SJ‘E‘B:&)ESJ‘S‘S T8 &g drdo

(1) ESoom &K 0H

Q) S8

Sty DBA, LHB S, STRE DSB8 -
(4) [ oA, H0R eIl rod, éo“sé S8 &0t

119.

The products formed during the electrolysis of brine are

B DogBIFR0 BoBHODSHYE BB ST

(1) Na,SO,,50,,H, . NaOH, H,, Cl,
(3) NaCl,H,,Cl, - (4) Na,COg, COZ,H

120.

Which of the following is an ingredient in antacids?

808 T8S* D6 eI od’ (antacids) e.§ Ko €oenod?

(1) NeyCO; (2 NaSO, (@) namco, @ Mg,

121.

S

Identify the metals which do not react either with cold water or hot water from the list
given under. :
80d @der $o0d, YA ABE M, 38 ST WEg S5 QS'GJBQJ(‘ﬁ) K2B0TED.

MgAlKZnFeNa
] oI m v V VI

«(1) LILVIonly (2) ULIVonly  ILIV,Vonly  (4) 1L Vonly
122. Which 6f the following has the lowest pH value?

(1)  Blood . - (2) Gastric juice

(3) Pure water | (4) " Sodium hydroxide solution

8o& FES* A6 3 pH el sOA & 0e008?

(1) 6_§DO ‘ @ 288800 (mgt\)g 5(\)0)

(3) %g meo & oS0 g@'vg)g (> Se00

-

IARIVHERTIEI 250



Booklet Code [E

arc generally subjected to roasting in the extraction of mctals?
(1) Oxide orcs (2) Sulphidcores

(3) Carbonate ores (4) Sulphatcorces
SEte Y I, D srdoHed FE o 558 HEcH% (Roast
(1) 36 mebheo $T)E TP
(3) IS oo (4) 38y MESEICE
The metal lead is present in the ore, X and metal mercury is present in the 0r€ Y. X andYare

123. Which ores

ing) <& Iy,

124.
respectively :
(1) Bauxite, Pyrolusite - (2) Haematite, Galena
(3) Galena, Cinnabar : (4) Cinnabar, Galena 5
X 0 &g’ 88 o wotnod. Yol gdg (ore) &° rE800 S°Ir0 w008,
X,Y e0 S&K3m :
(1) g, D60 DS . (2) %8S, O

WIS, SR | (4) 256, O
125. The oxide of metal ‘X’ reacts with both hydrochloric acid and sodium hydroxide. %at 15 X?
‘X’ ol TG0 Do), @8)6, TGS s %0, FF&ao ?@"’E}g B0&0BE 83

S00%08. X’ ©55e A8? ,
(1) Na - .2 Mg . (3 K ' Al
126. Following are some of the organisms in an ecosystem. Arrange them as a food chain.
). Frog I) Grass III) Snake IV) Eagle V) - Locust
08 S HHIS'Q FY Ao §od D) dnmon. B WSS Feodon @0g)oé.
D &5y . @ 48 3eges ~ M) e V) @S @ s
(1) I—=>I->II->IV—>V o I=2>V=2I=1I—1V
(3) IV=II—-4Ve 11 4) V=2I-IV—=II-—I
127. Snow-blindness is dueto ;
(1) Infraredrays ' (2) UV-Arays
(3) UV-Brays (4) X-rays
@D—goéﬁfvé 5°8e20 ‘
e (1) 2060w §8earen 0 (2) UV- Ag8egren
@ UV - B 88eoeex (4 X-8&8sren
128. ﬁck'up the mismatched pair
(1) Coxal glands - Scorpions (2) Malpighian tubules - Insects
(3) Nephridia - Prawns . (4) Flame cells - Flatworms
50 28 B 285 KHdowos '
(1), §°%§)S (focoed - 8 L (2) STONCHS TEen - Bersren

(@ Syspe0 - OoRgeo (4) e Seoven - DOB6HY Horreo

(i llIIIH)HHHIJNllllﬂlflIHHIII 0 Y
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List - II (Example)

129. Match the following,
List - I (Chordate oloup)

a Fishes
b; Amphibia 1) Bungarus
c) Reptilia ik =8
d) Manmumalia ,”)) Pa e
iv)  Passer
| ’ \
E0b B 2EHEBOd. ) Bufo
e - [ (S"éé? QT T0)  epe - (&5 6e0)

a) ey ) - ‘oS
b) &efootSoren - i) zaes
) CONERESS", . i) Foawr
d) géeren iv) S

V) arss
The correct answer is :
JBRS JSrerdRw _

o ' a-iii, b-v, c-1, d-i1 , (2) a-iv, b-v, c-i, d-ii
) a-ii, b-i, c-v, d-iii (4) a-iii, b-iv, c-ii, d-i

130. Catalytic converters are used to

(1) Control SO, pollunon
(2) Control poisonous gases in automobile exhausts
(3) Control particulates of exhausts of thermal power plants

(4) Dispose hospital wastes
BHBBE EScgbos A DABTNLE
(1) SO, s eoig dofoEed
@ 3rers Tirare PSR Doqs"oﬁw@o QosHo|sen
» (3) &S Ddagéz,o@"e; HS'D BeaoTD ST dosogeso

(4) &R0 Sggo FonoIE

'131. Polyembryony is common in
(1) Banana (2) Tomato
eonosd (Polyembryony) D& HEGR G EE0 .
o (1) e8¢ .’(2) e S es® (3) 330?7"%6530:6 @ NIV}

(3) Potato (4) Citrus

TR 27-D



129. Match the following,

Q)
b)
c)
d)

Sod

Q)
b)
c)
d)

List - 1 (Chordate group)
Fishes

Amphibia

Reptilia

Mammalia

SEQ wSDHEWod.
D - 1 (58 dBorieo)
SosTygen

G oW or e

SIISNEVON

§Smren

The correct answer 1S :
BBRS B> rdSdwn

" a-iil, b-v, c-1, d-il

£

a-ii, b-i, c-v, d-1i1

ii)

111)

2)

(4)

Booklet Code

List - II (Example)
Bungarus
Camelus

Labeo -

Passer

Bufo

[V

e - 1l (Godrdes)
2VOTOR

g

SHATT

TS

e’

a-iv, b-v, c-1, d-ii
a-iii, b-iv, ¢-ii, d-1

130 Catalytic converters are used to

(1

Control SO, polluuon

(2) Control poisonous gases in automobile exhausts
(3) Control particulates of éxhausts of thermal power plants

4)

Dispose hospital wastes

3LBBE §S5gEosr B8 IIRFATE

&
@
. ()
(4)

SO, S"enag Qoo

3rtrs TIPSR é)amoﬁaofg)o 3
&S RISIG e[l @“{)eS“K) BeonlTd 9
TS SgTre SORoRIE

131. Polyembryony is common in

(1)

o (1)

Banana

OGS

AR

(2) Tomato
wiohotd (Polyembryony) D& c\"dﬁa“wdeoo
(2) L5mdores’

(3) Potato

oSoo|ed

TGO QO30(Eeaso

(3) @Om%woa

(4) Citrus

@ K)éag)




132. Match the following.

Booklet Code

' ist - IT (Use
List - I (Alkaloid) List - IT (Use)

a) Caffeine 1) Antisttlc

b)  Nimbin ii)  Sedative -
c)  Scopolamine iii) Excitation of nerlv .

d) Pyrethroid | 'iv)  Treatment of Malarl

v)  Insecticide

808 TBI aEHEHd.

e - | (@0&010305) e - 1 (ﬁéo’:ﬁf’ﬁo)

a) IR | 1) Z)o&'?o%gg
b)  odS W i) - Boeky Ho0c%d
c) @‘633‘5@3.35 ' | 1ii) a"égzésa’a"g &8 57880
d) PoETonE | iv)  $o8bose D88
| ' V)  §&EseRQ

- The correct answer is :
DOES HITTEIN 1

(1) a-ii, b-i, c-ii, d-iv ' (2) a-v, b-ii, c-i, d-ii
a-1ii, b-i, c-ii, d-v _ » (4) a-1, b-iii, c-1v, d-ii~

133. StatementI:  The NADH synthesised in glycolysis is transferred into the mitochondria
and undergoes oxidative phosphorylation. -
StatementII:  NADH is oxidised to NAD"* fastly in fermentation and slowly in aerobic
- respiration. |
(1) Both statements I and II are true,
(2) Both statements I and IT are false.

(3) .Statement I is true, but statement 11 is false.
(4) Statement is false, but statement I is true.

g 1 290?056‘ éoﬁ&é@gé NADH 0¢5° 5 0|&aseS* e
g 111 8eacSoes® NADH Qo& NAD
e3§)880 R0LB08.
Jrgpgen I, 11 DBRS.
(@) Tgmges LT 80@0s0 g

| 8YABS PINBBAS Boagob.
; .
" B0, T o%0bme TIREDS® 3508

(3) gy 1588088, sy Tgag 11 $8G0KE 57650,

LT

28-D
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134. Study the following Statements and Pick up the correct ones.
I)  Noenergy expenditure takes place inp diffusion.
I) Infacilitated diffusion Special Proteins help to move substances across the membrane
by utilising ATP. P ‘
) Inplants transport of materials over loneer distances proceeds through the Xylem and
phloem and is called translocation, ' |
IV) F acilitated diffusion is nop specific for molecules to be transported.

808 woren wEschso B Q0S8 83 80508,

) D38 (diffusion)es® LERRUNISS e ascs;csg_ v

) ®eodsd 2360 (facilitated diffusion) g8 FEH STGFOH do wyo
Sares> Bodoes® ATPY DGR EE0E7000. -

) JIngos* g, g Sevare0 oo @6@‘0@10@ DT STved VIT Q)
2088 (translocation) eoérss, . L

V) foogds 268w (facilitated transport) Saeea SohBeRS wHels AR =

(non specific).
(D ru (@ LIV @) LI - (4) MLIV

135. Study the following and pick up the correct statements

). A mycorrhiza is a symbiotic association of a fungus with a root system. |
)  The water loss through the leaves of plants in its liquid phase is called guttation.

1) Transpiration occurs mainly through the stomata in the leaves,
IV)  No energy is required for diffusion.
(1) Tonly ' (2) IandITonly
(3) LIIandIIonly (4) LILII and TV
§08 T8I wdgahSo B 38 woTeH KHBoKos '
D 083 ol %’es)vo@So, S Sgdpe DTESS Howodo, |
) & 30§ o eie &or AW (S Erdos® VI TIEQ) Dockirso (KEAS)

®OI”R0. '

III) e &)8o Snpgom e:ssbe:ef &0d HE Sogre TGO 2HE08,

V) 25608 48 wsvse S, '
(1) ISee

- (3) LIIsososn III Soe(

LT : ' 20D
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d of human embryo occurs at this month of pregnancy

(2) 5% month
(4) 9" month

136. Appcal ance of hair on the hea
(1) 3¥month

3) 7" month
5533;6;5 oaowé’.)zée)&é* {ﬁéﬂ)@”é&‘a 20mE €2 Jos*® o S Bonded v %0 (80BN Y 0
(1) 3% Jo 5% Se
,(3) 75 R0 2) 95 e
e p Y
Do &) T %8050 ' K . .
Srox Do (2) 20 () 255 . (4) A0S’

138. Genotypic ratio of Mendelian Monohybrid cross in F, generation is
00&D0HS ¥ 088 H08E00S D Fy 8806 asgogdrd dQE.

(1) 3:1 @ 11 (3) 1:0 1:2:1

139. StatementI:  Insponges, digestion is intracellular and they have canal system.
StatementII: Cnidarians having exoskeleton are able to form islands in sea called coral

reefs.
(1) Both statements I and II are true.
(2) Both statements I and II are false.
(3) Statement I is true, but statement I1 is false.
(€)) Statement I is false, but statement II is true.

a"gmg [: Jyoxses’ Semoddd £F8o%h 28&08. BsS @@5:655@ € 0e008.
gy Il 1 erirg wdHoudo EOAS &)36053563 DI EoS* Searedd ngdiﬁﬁoé) S
B¢ 893@“@3 90T, ' '
rgpgen I I $88308.
(2) arggen I, I 98508 5.
(3) g5 1 06056, 50 gwg I HBHEE 6.
(4) orgpg I 58@3:‘6& 5%, 57 argpg 1 é&@oé&.

140. Function of synergids is

(1) Nutrition (2) Directing the polien tube

(3)  Formation of endosperm (4) Formation of pollen grains
DTFOR0E Eeare (synergids) 2g

(1) &de ' /@ JORT T8 o) JgBousso

(3) @oosyER) A6yt - () BomHoss desseo

O s



141.

Booklet Code D

Clause 2 of Article 13 in Indian Constitutiq
(1) Lawmade by the Parliament

(2) Ordinance issued by the President of India

(3) Constitutional amendment made under Article 368

(4) A decision taken by Union Cabinet

68 TargofiSNGT 135 HES0SnS Ko 23 g B8 5o,
(1) Dot Er@FroBods Sisn

L(2) s o*lfm@ =0 IS ST
(3) 3685 @édsaéwéo B0BV0D ErroBondS c"aa'“goﬁ D58ew

n is not applicable to

‘ 's’oLd AN éacoosaeécl Qgaso

142.

Which of the following is not correct with regard to Fundamental Duties in the Indian
Constitution?

(1) Fundamenta] Duties are applicable only to citizens of India.

(2) Fundamental Duties cannot be enforced by writs.
(3) Ten Fundamental Duties are incorporated by 42m Constitutional Amendment Act.
(4) Eleventh Fundamental Duty was added by 87™M Constitutional Amendment Act.

88 Trergofiod” do (@EE o Honodod J05IR?

e () EDE Dbren 08 FEHLE SrEd 6R00.

(2) 88w TGT (FENE IO Ve HEWBIN.

(3) 425 crargol 580 5B FEE DHoH FoHBIDSE.

875 Trarsofl H36E HEFOES B8 B FodDENSE.

143.

Which of the following is not correct with regard to Vice President of Indla?
(1) Hedraws his salary as Chair Person of Rajya Sabha.

(2) His salary is paid from Public Account of India.

(3) His tenure is five years.
(4) He is elected by Members of Parliament.

vatel:] ﬁam@é@é P02080D) JB5AE?
(1) maﬁgoa‘j WEgHE Fore® odds a8dEg0 STARNYSY
ae‘ée;’e,go 2 8és 03225 @00 ok DO,

(3) @8 H8dswo 5 JosSoren.

2 (4) wdlH FgIootn B B8 AYEHE .
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ve Principle in Article 4383 relating to co-operative socictics was INCOrPoriie

144. The Dirccti
dment Act

by this Constitutional Ame
(1) 91% Constitutional Amendment Act

(2) 93" Constitutional AmendmentAct -
(3) 95™ Constitutional Amendment Act
(4) 97" Constitutional Amendment Act

3B E8esns fo HErsS HOPTOR Honofods et GBS oIDERS Tergor

HHG zﬁéé))ég.)

(1) 91 % wramgorf HS80e B0 ;
_(2) 935 oregods H508e9 53850

(3) 95 orergol HHED SISERY

(@) 975 wargori 38w Sy

145. Which of the following is not correct?
(1) Rajya Sabha provides representation to States.
(2) Deputy Chair Person of Rajya Sabha is elected by the
(3) Thereisno reservation of seats for Scheduled Castes in Rajya Sabha.

(4) The normal life of Rajya Sabha is six years.
' 808 TS $OSB? |

(1) oregdes m@o& 8AEg0 EAY0b.

(2) oragde airgd BONGR Tragde Dby REC)SIETALL
e (3) CragdESs® ndrgg Soro 08 D Bestg BaHEB.

Tragse GO TOSEEH Gk HoSETe.

146. From the following identify the State which has higher representation in Rajya Sabha

members of Rajya Sabha.

—

(1) Gujarat (2) Karnataka (3) Odisha (4) AndhraPradesh
808 TIS® TagHESt &S (@FEITER) EONYN) TRty K80,
. (1) Ksos @ S (3) o (4) oo gpas
147. Lord Rippon’s famous resolution on Local Self Government was passed on
(1) 18" May, 1882 | (2) - 21% May, 1882
" (3) 11" May, 1882 o (@) 9" May, 1882
FIE Hgoros Pihared orf 850 BUS D0 BoSo eBrdoEHas 86
18 &, 1882 (2) 21 &, 1882
L (3) 11, 1882 (4) 9 D, 1882

AT MREEAA 55
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148. Panchayats at the Intermediate Leve] may not he constituted in a State having a popuvlation

not exceeding
(1) 20 lakhs (2) 30 lakhs (3) 40 lakbs (4) 25 lakhs
ond” Howrondes’ domyen

a =5, £ - v n o o
8od& 036"21(602 BT L0E) Mo W@&JG‘ 53555%3 N
BoRSSd80 Bk

@ 20 ogen (2) 30 efen (3) 40 ogw- J(4) 25 ogen
149. The word ‘Cabinet’ is incorporated in the Indian Constitution by this Constitutional
Amendment Act

(1) 42™ Constitutional Amendment At (2) 24" Constitutional Amendment Act
(3) 44'h Constitutional Amendment Act 4) 45h Constitutional Amendment Act

88 Trargorios® 'SgHIE ©F) HEB0K FochngDS TreErgol 38 WEBD

- (1) 425 orargol dS8e0 &350 (2) 245 orargoll HBCea wWeR0

@ 445 orapgo H56m Besn (4) 455 orepgolf DT SES

150. The Judges of International Court of Justice are éppointed by

(1) Secretary General of UNO

(2) Security Council
(3) General Assembly
(4) General Assembly and Security Council

©oSTEAH TGEHATINSK TIEHBrRO D IHDETL.
> (1) =o8goreg 308 (s 5765dS0)

Q) #Hde 060

(3) D1y (DI e _
S6c5e5 B8RS B $B0%0 WEE 5060
moved by adopting this method in Direct

151. A representative elected by the people can be re

Democracy. :
(1) Referendum
(3) Plebiscite

o8 ©&gE Harargdog Kxgé’é oo (Do 536 DASS DAIHY SOR0WILWY).

(1) PerdFrcsd wESe @ QST A58 50
. (3) 20pS (4) BdFes

AU Ecn 330

(2) Recall
(4) Initiative
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152. NOTA (Nonc of the above) option in Electronic Voting Machines was introduced for the

first time in the elections to State Legislatiye Asscemblics held 1n the year. ik |
JoTIE L8R MASS T (2 32 5) wi) Do I 3N T Sog
SoSETos® =BAS T DTS DTV oS BIFnepk.

(1) 2012 2) 2010 @2013 (4) 2015

.

153. Open Ballot System is adopted ip this election of our country.
(1) Election of Members to Rajya Sabha
(2) Election of Members to State Legislative Assembly

(3) Election of Members to Nagara Panchayat
(4) Open Ballot System is not adopted in any election of our country

5BF0S" §od IQNFS” 237808 L8O DFssn eswodowsnddS ob.
D oagses smge 28 |

2) TG IS D Babgo IYS
v (3) K8 DowrcHEdy HEbgw D

(4) S058F0s" D IYESHr TSN LA IFdo wSwoDOS DEDE

154.-“Elephant” is the election symbol of this political party in Assam.
(1) Asom GanaParishad ' (2) Bodo Land People’s Front,
(3) All India United Democratic Front  (4) Janata Dal (United)

wos® §od Tralch Ff I HEy ‘DK
w0 Ko HORE : (2) &G orgob HHS) oS
(3) ©& goddsr cIBE FREEE o (4) =l 8§ (SIBE) -

155. The following language is not found in the 8" Schedule of Indian Constitution

(1) Sindhi (2) Urdu (3) Dogri (4) Gondi
68 OrergorosS R 88 RETgene” edDoE A
(1) %08 2) &g (3) &@ ¢ (4)) o

156. What are the basic indices for measuring quality of life of i :
; people in de tries?
83 gea{ income, Health and Educational attainments P 7oping Solnticy
eal income, Health and under weight of children below 5 -
(3) Health, Education, Infant mortality rate years
(4)  Income, Health and Educational attainments
VDN Botod) Rerest. (2 i - 3
éyai@ e ) ,'@aaeg 258 oreagd (quality of life) Fensoirsy &Heriod
(1) =38 esorasoo, @6“({80, Ty
(2) TS GEraH0, B6Keo. i < |
b ’ 80, S 3363;@) é@ﬂﬁé 5 éQ:‘é‘f “, o
Tigo, 2655, 3 Sodeme 62(;33 ) AT OSY Deew
) esaso, @650, DTy

A Fge




157.
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ualistic cconomy?

Bascd on which of the following, Indian Economy is said to bead
(1) Existence of large scalc income and wcalth}i,nequalities

(2) Recording higher rate of population growth
(3) Existence of modern and traditional economy
(4) In efficient utilization of natural resources

8o TBS® BIP BIEDHB 6 ©BE Scsng o8 8
1) B s STak, $0dE Sgarsdres K |
( S &) ) §E g §é:‘Jo$J_)oC§D¢3
(2) ©E arer $)E00 SATG Batoky

e300, oo 5555"%303 SRS w0
(4) ©5)S 300 wJIgormr GIRTrAotey

& égé}gﬁ" B‘ébéis%?

roed as the Jargest producer and consumer
o

158. In respect of which of the following, India eme
in the world?
(1) Meat - (2) Pulses (3) Eggs (4y Tea
8od oe3e* B8 dowohod), E8RY0 HHowos' ©8 g wENE DIR>E Bom
©3$8000H? ' ) '
(1) srovo  ((2) a8y dFwe (3) fd (4) Boirsd
159. The objective of Pradhana Mantri Grama Sadak Yojana (PMGSY) 1s

:1; g Hooroartd wRsom Q52008 [METFOS DT DI

(1) Integrated development of scheduled caste dominated villages in the country

(2) Unconnected habitations in rural areas are to be connected

(3) To provide old age pension and maternity benefits

(4) To issue property ownership cards to property owners in rural areas

PEd0@ s HE§ Brad (PMGSY) &@dg0 oS '
DB

e (Fosred’ ©KVOETHo 570 oo wdoTdo Vo0

09080tHE) 328050 erdodody JHCHo ®olod

(3) Sym=s Dogden
(4) (e Fosrostd oy chairiHo ey diradrly sQom b DS

In which year the new industrial policy announced the abolisation of industrial licensing in

160.
India? .
(T ESBF0T & DoSEBoS’ @5&30:‘35 FOTE DT wHJ00D JVFTWE Twoh
DEdo 8 Boonsos? | T
p
(1) 1948 @ 151 - (3) 1956 1991
161. Which of the following activity is not a part of service sector?
(1) Fishfarming - (2) Warehousing of fish
(3) Transportation of fish (4) Sale of fish
Q8 T8 HardoKods® o 5PRRE?
@ JHhe Dodo : s (2) BDdew Qox Pasdo
) Bde e (4) Bdo ©50 80

AWM 35




BoOEsTs g ey
: tin developed countries?
M. Keynes what is the main cause of unemploymen
162. Accordingto J.M. Keynes:
(1) High Population
2) Introduced Automatlon
(3) Low effective demanc
ity of Educationl
(4) Low quality D8 HES sBor 7.M. E3S)

5] DoBS Agreres® QKT
(1) o8 =2

. 2) S0 @S @
g8 BSTod S8

A0 D6uINS7?

S¥5neso

G ;’)::5-"5 a‘eagéeﬁ‘ ISarele) | ‘ ) - =
163. Asper2011 census which one of the following districts in Andhra pradesh (after bifurcation
2014) has the highest s€X ratio? , _ 3 .
(1) Vijayanagaram 2) Srikakulam
(3) Kiishna - 4) Visakhapatmarnl o 2 e
2011 o BE® 5505600 SOBDBTS” (De5eeS e@50ST0 2014) 0 2 @D—@@d
ANB w&gos QB ST <od?
@ Dmahssso ’ (2) sssoFo
3) 5 : g (4) DT PDENO
164. Who established the EX-IM Bank? _
(1) The Governmentof India "~ (2) TheReserve Bank of India
- (4)  TheIMF

(3) The World Bank

28,55 (EX-IM) ergososs D5 pDomed?
(2) ©=238g ergodo & R0& S

@ 8& (HabEgo
. (3) @Bos ergoso 4) IMF

165. TRIMs and TRIPs agreements ‘are related to 'which of the following International
=

Organisation?
€359) (TRIMs) 508050 (€35 , :
. 2) (TR_IPS) 005D & Lgo& 5Dt D - "
$020H0DS eHYOTe0? » { @OéO;’esotio ‘oog@
© @ W.T.O.
ORALL.O.

(2) LB.RD.
(4) ILM.FE

AN AR V LE e
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166. Match the following incidents with thejy re

Spective dates.

List-T List-II
a)  Prime Minister of India Commissioneq INS-VIKRANT on i) 1% July 2022
b)  Banonidentificd single use plastic items in India ii) 2% September 2022

came into force from

.¢)  TheFirst National Start-up Day in India was celebratedon iii) 21 July 2022

d)  Smt. Droupadi Murmu elected as the iv) 16 January 2022
15% President of India on

& (808 Do T7¢38 HowododS E—ané‘ adBood. -
Her-1

-] _ 2

8) 208 HEERo@ INS dF 08 60005 86 i) le8 2022

b)  &rESBEoS” HBoSAS DoNS chrs FE i) 27goab 2022
SIo Jago wloeness SIS B8

c) TESBIST IS “TEH woks doge ii1) 21 28 2022

BSEH0” 2823 86
d) @8 FHd ;Swdo&] 288 155 o g Hem QR)E00D éa iv) 16 235586 2022
The correct answer is :
DO JdrEdS0 : ‘
(1) -, b-ii, c-iii, d-iv O i, b, c-iv, d-iii
(3) a-ii, b-iii, c-1v, d-1 (4) a-iv, b, c-ii, d-1i1
167. Choose the correct statements regarding the awards of Swachh Survekshan - 2022.
a)  Indore won the cleanest city title for the sixth consecutive year in more than 1 lakh

population category.
b) Panchgani won the cleanest city title for the less than 1 lakh population category.
c¢) Tirupatireceived the best city award in Safai Mitra Suraksha category.
d) Rishikesh received the award for the best Ganga town in more than 1 lakh population

to
(1) (a) (o) and () only (2) (b),(c)and (d) only
(3) (a),(c)and (d)only (4) (a),(b)and (d) only

D0y ¥0858e5-2022 VT RO 00230500 FBS TEgS0en DoDE BoHod.

a) | of £0B 5D 2T §IAS 000" 20 SWBM 65 0 wEg08 HBHEDS
D0 88S Re0t08008.

b) 1 oé 508 895 aTer $OAS 3LASS’ S0K w8508 038%6@;553;‘6 Hewo FES
Rentoiood.

c) HFow DG HNEF SWABS” 85N wg Do VTG TeothHEod.
| ©F 08B 285 aIrar EOAS $eoRBS® e ?‘?om 2&e0 @a"cﬁom B35 RentHKod.
(a), (b) 50805 (c) S . (2) (b), (c) So805% (d) SrSHd

(3) (a), () 0880 (d) SrEo 4) (@), (b) o605 (d) S

MR 37D

4



poakiet Code | D]

168. Accofding to the MoU between the Ministry of Agriculturc & Farmer’s ngg; Cig\;gaéf
India, and United Nation’s Development Programme (UNDP) in May 2022, P o
technical support to the follmym g
a)  PM Kisan Samman Nidhi Yojana (PMKSNY) . MISS)

b)  Kisan Credit Card - Modified Interest Subvention Scheme (KCC -M
¢)  Pradhan Mantri Fasal Bima Yojana (PMFBY) '
d)  Pradhan Mantri Krishi Sinchayee Yojana (PM KSY)
(1) (a)and (b)only (2) (b)and (c)only
(3) (c)and(d) only | (4) (a)and(d)only |
e 8es @’Jeﬁoe‘écs :652653‘053 & B SICERS mo@aéogmgp 5389&)3 mégcr"%s Q& @é};ﬁag
s8gESoo (UNDP)E® 3o 2022¢5° BN eSmEra wdyodo ©8°E0 UNDP <& 808
T8 Fo8SE JHcHo ©oB08. ‘ :
a)  PM- 83 35S 8 &orasd (PMKSNY) .
b) &S BAS 5§ - Ird P& 20EY IEISS a0 (KCC - MISS)
C)  BETEH0@ $5S Hir Gorus (PMFBY)
d) DI g Hoton Bred (PMKSY) ;
(1) (a) %805 (b) S | @ (b) 59805 (c) So&So
. (3) (c) o800 (d) S 4 (a) %0805 (d) SoE o

169. Name the category in which the highest number of gold and highest number of silver medals
won by the India in the Common Wealth Games - 2022 respectively.

(1) Athletics and Judo (2) Athletics and Wrestling
(3) Wrestling and Athletics (4)  Wrestling and Weight lifting
57500 3GAR) - 2022 & ersdtizo wSgE H58 $80%0 VEIRE Sads Hes

ISRISING) ﬂe:oz.\bs%@
QTR0 SEd ‘ '

(1) o388 Hoowo wa® - (2)  ©BE§ %oowo vzof
(3) Bgoh Sobosn 6@k O20f £28050 TandS 830

170. Thc winner of both the U S. Open and French Open Women’s Tennis singles titles, in 2022
is . T
(1) ElenaRybakina a (2) IgaSwiatck
(3) Ashleigh Barty (4) Coco Guafr
20220" US. 275 500050 (o5 605 HT¥0 BYS Bons; B8 Bodosn nonss

- (1) B geriar (D e s

(3) g wf (4) &8 K%

WA 38-D e



. According to the Economic Su
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SDG India Index and Dashboar( n2020.21 ¢ e, | rayog's
21 is

@D $8¢ 2021-22 ®¥5°83, 2020

172.

GRS RS eSSBS0 R o .6
(1) 64 (2)- 65 ~ '
*@ 66 (4) 67

The Re : < W - /
e scgfftﬁan.l\_of I.ndla published Financial Inclusion Index in August 2022. According
p € raise in the value of Financial Inclusion Index from March 2021 to March

- 2022 1s

(1) 53910593
(3) 539 to 56.4 (2) 56.41t0593
N (4) 54.9 to 56.4

80y 2022¢5° o8805; D28ag ergo§ ©BE 59 5D HEB0R0H. & IRBE [H5Co
©E DAPRE Erh DenSSt 828) 2021 Mo sr6y 2022 S0 DEOMSE ‘
(1) 53.9 $08 59.3 . (2) 564 08 59.3

(@) 539008 564 (4 549808 564

173

Expand the IPMDA which was initiated in the Quad - Leader’s Summit - 2022, in Tokyo in
May 2022.

(1) Indo-Pacific Partnership for Medical and Drugs Awareness.

(2) Inclusive Participation in Maritime Domestic Arms.

(3) Indo-Pacific Partnership for Maritime Domain Awareness.

(4) International Participation in Maintaining Drug Awareness. '

Do 2022 & SPE St 28aS s3E Bporf dSrPfo 2022 S° (EoDoswdS [PMDAD

JAJBoLok. ‘
(1) mo&-52DE FEIENS H6 AES wob &R ©3535,
(2) =208rds FPO RS B SroBa0 EYPE wb)),
Q0 -HHDE FEHERS BE SrEBH FWS ©IEIR.
(@) motsdass QuHaS as MonSBowdol B eI53s,

174.

The first woman appointed as the Director General of the Council of Scientific and Industrial

Research.

(1) Jyotirmayee Dash (2) Neena Gupta
(3) Chandrima Saha (4) Nallathamby Kalaiselvi

TS 65 HoB3HE o0& R0ERIDE 53§ FEES BHEET AaWHTS INSE Herd

(1) 58800 = @) im oy
(3) Sopsr &L 280D 8

LTI
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S . .11 development in
175. Choose the incorrect statements regarding the ficld of education and skill

Union Budget - 2022-23. ded from 12 to

(1)

(2)
(3)
4)

(2)
(3)
“4)

One class - One TV channel programme of PM ¢VID YA will be expan

100 TV channels. A-Service.
Startups will be promoted to facilitate Drone Shakti for Dr: one-AS-A”

Establishment Digital University to provide universal education. s
Launch of DESH-Stack e-portal : A Digital Ecosystem for skilling and livelihood.

o * Zod
ol 0@ 2022-235° Dy 508030 Y S BS©TRoots Sonrs 4020500 D05 550
Qo2E WSS, :

PM eVIDYA s*3gE0R08 8 8858 - of 8.9 seoggso 12 8.0, o35y Lod
100 &.9. w3S)% dYBosadod. p ¥ 4

E'5-D5-2-06¢0 F6% &S 982 Dovussso Bodgo 50 FYDOK Er&)arosdo.
@’Jéoﬁﬁgooa Qg wododido §do &utad ‘3"5535"5@05.30' QTYE.

' DESH-Stack e-portal:  &226S 80850 H6 & Qof wo& B3OTVES FrdoPoido.

176. ‘Anubhuti’ - the QR code-based feedback system launched in Fébru'ary 2022 was aimed

to
(1)
(2)
(3)

(4)

Address the problems of the female artists of film industry in Mumbai.
Analyse the requirements of the students of Class X in Mumbai.

Ensure the safety and security of the people with maximum use of technology in
Delhi.
Address the problems of female workers in Delhi.

D30, 2022 * @Sodosnas QR 56 ©508 bErgE 35 “woura” S8,
ﬁé%’gé&o. CE | :

(1)

@

(E00BS™D Y BoEmeR Hire ITThe Bvge S0imdo.

S00BSA HES S6Ka g WSST O™ DIR0BLo0.

@ 399" Bsodd esator DAErA0D BRO 5B 2O HEsoy, FE°> assdo

(4)

3OSD Sore sy vvge 0 o.




177. Choose the correct sentences from the

Booklet Code D

following,

a) t?lfcl 12131‘3 C(’}Css::izltll (C))Ii; \(vzoé l;i}i;c?-fucl Day, Prime Minister Shri Narcndra‘M odi dedicated

b) The 2G Ethanol plant has b::t;olif .llant L i iy to‘thc “atl‘?n-
311 estimates sost oF Gyer e 10010 t;)rir) Oil and Natural Gas Corporation (ONGC) at

c) Theproject will have zero liquid disch r-es.

(1) (a)and(b)only al§ . d-(c) only

(3) (b)and (c) only E4; @) al; and (¢)

§od T°e3eS° é§€6 TEFON0 JotHT o4, S |

a) Dd0od &S RodS BIESo dodsyom, Hersso® @ 5605378 TT TS A
FISES® 25 &80 (2G) 2ETS FoiSs) =as woddo BT

b)  2G 265S 085 oS 808 IHIS mgs s6yPRS (2.25.20) & 1000 §&
P83 wolar Sgahos® QB0R08.

c) @EES® Do) 85 GHE totnod.

(1) (a) 508050 (b) S (a) 08050 (€) STED

(3) (b) H080%w (c) SrEdd @) (a), (b) L85» ()

178.

According to the Global Gender Gap Report 2022, the India’s rank is

Rad Bods mgs 388 2022 @560 gokelr &), Trgoto.

(D

125 @ 135 (@) 145 4 115

Match the following Raman Magsaysay Award 2022 winners with their countries. -

I'78.
List-I List-II
a)  Chhim Sotheara ‘ i) Japan
b) Hattori Tadashi . ii) Indonesia
¢) Madrid Bernadette. J. iii) Cambodia
d) Bencheghib Gary iv) Philippines
& (Bod ToHS DA™ T 2022 dESH TO DTS 2EHSF0R,
-1 2d& -1l
a) 08 o i) =¥
b) ele dma i) ROGIhasr
c) ErEE BEBE. B. iii) 90:5“3053‘
d)  BoBAS ™6 iv) @9

The correct answer is :
OBRK DS S0

. a-iii, b-i, c-iv, d-ii

3)  a-ii, b-iv, c-ii, d-i

L

(2) a-1v, b-iii, c-i, d-ii
(4) a1, b, cHiii, d-jy
B e

————

41-D
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Match the Milita i
. I ¢ [ ) MO L/
ary/Naval exercises with their participating countrics.

183
List-1
a) SAREX-2022 o Listll o _
b)  Dharma Guardian-2022 | i)  India-US joint military exercise
¢)  Varuna-2022 ii) Indian coast guard exercise
d)  VAJRA PRAHAR-2022 + i) India-Japan Joint Military excrcise
GoB DOLB/TD DarsFrols P iv) India-France Naval cxercise
- ) BT aEddiiod.
> 3 a,ﬂi)@"’-”
;) Z":% ) 2922 , . i) ;;—é:ﬁ:US oS0yl oeedd DGR
) 5&% oS - 2022 i) qoBaHS Y geo 650 Dagaren
S) : E‘DJ: 2022 iii) 0B CST - &b Dotd DgHo
) S @6 - 2022 ) modoir-@rg TRO DT
The correct answer is : '
HBG0S D3TS5
a-i, b-i, c-1v, d-i (2) a-iii, b-il, ¢-1V5 d-1 -
,(3) a-ii, b-11, c-1, d-1v (4) a-iii, b-i, c-ii, d-iv
184. Choose the countries that joined the steering board of First Movers Coalition led by WEF
and US Government in May 2022.
(1) Japan, Swedenand Germany (2) India, Germany and Sweden
(3) Japan, Germany and India (4) India, Japanand Sweden
5, 2022 &° WEF 000850 US @ebdgo srohgso Sir0B 55 S5 EoNBAS FY,
QBoh 55" BOD Daren. ~ : '
(1) 23S, 2GBS H00a5d 28)Q (2) =mobcSr, 28R H00I0 A
. (3) w5, 26D 8wy q085T QoBSr, BS 0850 DB
185. 4 adds 11 more wetlands to the list of Ramsar Sites. Choose the

Ason August 13,2022 Indi
correct statement from the following regarding the number of new sites added from the
respective States. ' .
(1) Tamil Nadu-2,0 disha-3, Jammu & Kashm_lr—4, Madhya Pradesh-1, Maharashtra-1
(2) Tamil Nadu-3, Odisha-4, Jammu & Kashm;r—Z, Madhya Pradesh-1, Maharashtra-1
() o) Nadu.4, Odisha-3, Jammu &Kashmir, e wiacesh-2, Maharashira.
(4)  Tamil Nadu-4, Odisha-3, Jamm & Kashmir-2, Mﬁidhya Pradesh-1, Maharashtra-1
iy 13, 20228 o8B 11 @659 pia Joo® TS Fore wded’ Bg0d. edir
g0 9000800 FBS JErErSo JoE Bokod.

Tro $od FEMT Ho0DS 0,4 Beo 0P J
(1) Soacs-2, wb-3, 259 & 595 Msl:f:?l, So3o-1
Q) Ssch-3, ebr-4, 23V & 550> 53;55555‘1, 5535:%@_1
* () Sodacio-d, wBr-3 as;iwg&g"%g'l’“ﬁ 5“:38 -2, SoFtor -1

’ ’ & 5902 $85085-1, Sodromg-1

SQSariir-4, e.Bar-3, 850

L/ _
LT
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S appointed the following

<th 17, 2022 The Secretary General of the United Nation )
186. On25 Fcbmaly Coordinator for Ukraine.

as the Assistant Secretary General to serve as United Nations Crisis
(1) Michelle Bachelet

(2) AminAwad

(3) Frederic Leclerc - Imhoff

(4) Wairimu Nderitu

D58 25, 20225 wggc"aag DS VLD 238 &3 8o& 8 €S0
Qofe éﬁ)ésoﬁaégw 510{30533&3&3 WDROE ELd 2 SEST 50T 8.

S& oggureg H&

(1) 1S wiﬁ@éf

.@ O I8

(3) 0§ TESE),-aND*D
(4) 30880 Z8

187. The theme for World Maritime Day-2022 is
(1) Empowering women in the maritime comrriunity
(2) Sustainable shipping for a sustainable planet
(3) Seafarers : At the core of shipping’s future
(4) New technologies for greener shipping
2022 36§ SroBX @ DY), AdSHBo
o (1) Q0HS580A HDS AS &§ SrOBS EHorgdE
(2) dRondend Ayoh ‘9’55 & (6’(3)033:62335 FIS
- (3) 5’05165“): A & 88 uH 21?33053 JrgNd
Sy Bsod® H6 HI6 2of

188. “Progress towards an equitable world” is the goal of the following summit held in 2022.

(1) G20 Summit (2) G7 Summit

(3) BRICS Summit (4) T12U2 Summit

4%&‘6@5 @200 B HEKS” 20225° wONS o @lo& BROY DS o¥50.
. (1) G20 565y @ G7 desidoy

(3) ©F Dy (4) 1202 a5

‘__\_—_‘/

T AR



189. Match t}e fol

10 o
sy Wing
List-]
a) IMF~E>\C cutjy
¢ Direet
b)) DRDO Chamn an -
c

Supr Cme Court leg;

d) 801ent1ﬁc Advisor tq

Mmlstel

& 808 S%9er55 2022 SIS 38

Dec-]

) 23505, . NI ess
B§

b) desas ad& : i
c) coo@o?d) T :085(00@

Eoed @csgsiac:ﬁo
d)

The correct answer is -

‘060‘:53:6 VIS Sy -
(1) a1b111c11d1v
(3) a-11i, b-ii, c- -1, d-iv

190.

@
T

Match the following books with the authors.

List- List-I (Books)

)

S Persong With
1 thejy
U regyy CClive positions/desi

S8eo 00 TR0 | (oooﬁa‘da |

List-11
1) Sanjay Kishan Kay]
11) Krishnamurty Subrahmanyan
1ii) Sameer V. Kamath
Of Defenge v) G Satish Reddy
8 “\"’@”Ué“/a‘i‘cs“eaé‘ 280508,
der-11

1)  Hozo®H 845 TS
) 533 Sarg Gowisress
i) 306 3. wHHs

V) 2 28R 734

a-11, b-iii, c-iv, d-i

,“.,a -11, b-iii, ¢-i, d-iv

Booklet Coq, @

Ignations as o October

' LlSt List-TI (Authors)

a)  InFreeFall - My Expenments with L1v1ng - 1) BimalJalan
b)  India’s Economy from Nehru to Mod1 i)  Mallika Sarabhaj

A Brief History AR D
¢) From Dependence to Self Reliance | .111) - Sahil Seth .
d) A Confused Mind Story ¢ V) P ulapre Balakrishnan
8ocs aaﬁogaoc'feié DI 615033@@@‘ zaéz':goﬁooé

D& -] (02)“35100)

= Den. II (Sonngen)

2) 88 & &S B OB I8 520K | 2) iaze? ;@5
b) aoagosm SIS B Bm fo S0 o5 e
@5-)03 R0 R 5
8 0535 : p |
3 gi);si §§a§o? saf‘gei) ok V) 90k wrogss
N

The correct answer is :
‘05030?6 D3TS5 -

a-11b1v01d111
3) a-1i b-ii, c-i, d-iv

(2) a- 11 b- 111 C-l d-iv
(4) a-, blVCll d-iii

45-D
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191. Which of the following longitude is caljeq as international date line?
(1) 150°E (2) 160°W 3) 180° (4) 0°

& 1808 D Bgro¥sndd VoSTED 85I e m B exynels

(1) 150° & (2) 160°% - 4) 0°

192. Which State of India occupies first positiop in Jowar production?
(1) AndhraPradesh (2) Maharashtra (3) Telangana

r8EBF0S® 3 T go FEHH0L FEHBS® Jnnese3 o BED0DZO?

(4) . Karnataka

(1) wogeds . 270  (3) seorsm - (4) EowS
193. Match the following.
List-1 List-II
a) Yarade.l . 1) Bapatla.
b)  Manginapudi ' i1) Nellore
c) Suryalanka | 1i1) Visakhapatnam
d) Mypadu 1v) Krishna
& 808 B usBoDod. o
erder-1 =e-Il
a) oSroed T N . Bk
b) SoodASHE i) S

c) XrS500% { ili) DepBino

d Do = v) &)

The correct answer is :

HBSDS JIrpSSw
a-1, b-1i, c-1it, d-1v

(3 a-ii, b-i, c-iv, d-iii | » {4)

(2) a-iv, b-iii, c-ii, d-i
a-1ii, b-1v, c-1, d-ii

194. Which of the following Rock is not a Igneous Rock?
(1) Granite (2) Basalt: (3) Quartzite (4) Pegmatite

& 808 TS DB ©f) oo HowoRONIB §E?

(1) P @) oy o) SE8 (4) DES»BS
195. Which of the following is not a tributary of the river Br_amhaputra?
(1) Teesta (2) Manas (3) Lumi (4) Dihong

& (8ob TBS' B pPIPHEEs wHSd FTE?
e @ s Q) (@) owon

ORI 46D




196. Average monthly val

Booklet Code D

maximum .
uesof MPerare, i dra
cd by » minimum temperature and rainfall for a

place can be represen ThEma
: atic

(1) Climograph (2; LS @émap () Climatemap  (4) Histogram

8 @rodo GIng, ©¥P" TEET T ey Sip00 sumesng HS0 0

" 3580 Be
. EEYles 2 § @0 (3 ISR Do (4) TR

The shape of the Earth’s orbit is

197.
(1) Acircular path .(2) An elongated oval path
(3) A scaled oval path (4) A definite path
g8y TN wE)d : _
(1) sy 8g -@ 68 Syasd 8§
(3) ®oBdo 58 8 &) 59@515 gS«S 4) spé)t)é&)é 885
198. The moist deciduous forests located in North Eastern Andhra Pfadesh g_row'in the following

range of rainfall. ( .
(1) 100-200 cm (2) <75cm (3) >250 cm (4) 50-75 cm
STy oGBS’ i) 8§ BTy wdHe §od BODS I SEE H0HS” DS 0D,

100200 Bo.do. (2) <750,  (3) >250Do.2o. (4) 50-75 o.2.

199. Choose the incorrect statement.

(1) India is the largest producer of raw jute and jute goods in the world.
(2) India stands first in the world in sugar production.
(3) Indiastands first in the world in jaggery production.
(4) India stands-ninth in the world in crude steel production.
o TES” 305°Q T5gR) hdfowsod. i
23056, adHTE SHo GBS H0B0S® TEERTAE I0EE @CSSSO.

- (2) ©B0BS oy GEyaet aostTB 06 o,

3) BB0BOS’ Byo GBSt ardSBTIE F0ES Fo.

@ WR0WoeS* 138 &5, &,égé’aé‘ e ESRTIO ED0YED igéo)

200. The Periyar Tiger Reserve is located in

(1) TamilNady (2) Karnataka (3) -Goa (4) Kerala
20080 Yoo Gogge Soo &) @70E0

« (1) Evag, Q) sqes (3) A (3P 3s¢

oaood

T » i1
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